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Float n;
int m;
Char ch;

Bool b;
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A) Char ch="w";
B) Double d=1.23E-2;
C) Float n=12.5;
D) Byte m=300;
bskas alas (F

B,D (v A,C (YA,C,D ()
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intx,y,z=1;

X=y=12;

Z4+=x;
Console.Write("x:="+x);
Console.Write( "y:=" + y);
Console.Write( "z:=" + z);

ints,m;
5= int.Parse(Console.ReadLine());
m=s%2;
if (m=0)
Console.WriteLine("number is even");
else
Console.WriteLine("number is odd");
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string s;
s = Console.ReadLline();
switch (s)
{
case "VB":
case "C#":
Console.WriteLine("this is high-level language");
break;
case "assembly":
Console.WriteLine("this is low-level language");

break;
}
&L&MQ)PQVB,C# SlelS” 0459 QO
VB , C# clds 5l S5 599 &
ct , vb clds 5l S 99,9 (\'
333 oo 020 SWItCh jgxus o Uas GE
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int x=1;

while (x < 100)
Console.WriteLine("x=" + ++x);
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statements == ol pas)  Seaal Cand s g slas 55 (A

do; statements while (i<=10); (YFor (i=0;i<9;i++); QO
; Statements;

Vﬁor )t While (i<=10); (¥
;statements
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for (int hour = 1; hour <= 12; hour++)

O
for (int min = 0; min<60; min++)
Console.WriteLine("{O}: {1}", hour, min);
x
for (int hour = 1; hour <= 12; hour++)
Console.WriteLine("{0}: {1}", hour, min);
I
for (int hour = 1; hour <= 12; hour++)
for (int min = 0; min<60; min++)
Console.WriteLine("{l}: {2}", hour, min);
(f

for (int min = 0; min<60; min++)
Console.WriteLine("{O}: {1}", hour, min);

Sz 55 o axkad g 5(Yo
inta, b, ¢;
a=1; b=1¢
while (a < 30)
{
Console.WriteLine(a);
c=a+b;
a=b;
b=¢c;
}
sTUsd (5 o Jol abozr Vo (¥ 7l (6 Jsl ale 0 (€]
TlUsed (s Jgl aloz VY (F TUssd 6 Jgl oz A (¥
fmmtd Sy 403 0105 aze 8 L string &5 1A 6L 4 ol T Lolie Slgins Sl el (Y
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For (inti=0;i<=4;i++) :
Console.writeline(A[i]);
: (r
For (inti=0;i<=5;i++)
Console.writeline(A[i]);
(xr
Foreach(string s in A)
Console.writeline(s);
(f
Inti=0;
While (i<5)
{

Console.writeline(A[i]);
++i -
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string stl, st2; - Ga.

st1l = "microsoft word";

st2 = st1.Replace("word", "power point");
Console.WriteLine(st2);

Console .WriteLine ( st1.ToUpper());

microsoft power point (v Powerpoint O
MICROSOFT POWER POINT MICROSOFT POWER PQOIN
microsoft word (f microsoft power point (Y
MICROSOFT WORD MICROSOFT WORD
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71) What's the meaning of: workstation?

1)a computer or terminal that is part of a network

2)a application for calculating

3) a network card

4) a place for working at

72) Decide which of following sentences is true (T) ?

1)A computer can make any type of decision by itself.

2) TVs and VCRs use chip technology.

3) Human beings can work much faster than computers if they want to.

4) A computer can do something without a person tells it what to do.

73)Decide which of following sentences is true (T) ?

1) RAM, ROM, and secondary storage devices are components of the main memory.
2)“Permanent” storage of information is provided by RAM.

3)The most common output devices are the mouse and the keyboard. i
4)It can be said that the CPU is the brain of the computer

TRV visnis stores data on tape cartridges. It's used for backup Purposes.
1)Portable Hard Drive 2) Flash Memory Card

3) Tape Drive 4) magnetic tape

75)This OS, designed by Bell Laboratories for minicomputers and workstations.
1)Linux 2) win XP 3) UNIX 4) 0S/2 warp

76)Decide which of following sentences is false (F) ?

1) My Network Places: this lets users see other computers connected to the PC.

2) Recycle Bin: When you delete files they go here.

3) System Tray: This box normally displays the current time, but it can also display other
information

4) My Document: This lets you browse the drives and files stored on your PC.

77) A/An .............. is the distance between the beginning of a line and the left

margin, or the end of a line and the right margin.

1)indent 2) justification 3) Alignment 4) format

78) DTP is stands for:

1) Data type process 2) Desktop publishing

3) Data Base prepear4) Digita! processing

79)Decide which of following sentences is true (T) ?

1) You don’t need to have a sound board on your PC to hear speech and music.
2) digitalcameras store photos in a roll of film.

3) The most common extensions for text files are .txt, .pdf, .doc, and .htm ).
4) MP3 files are much bigger than WAV files.

80)Decide which of following sentences is false (F) ?

1) Computers understand human languages.

2)BASIC and Pascal are high-level languages.

3)The compiler converts source programs into a lower-level language.
4)The CPU can only process binary codes.
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